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=] = P A - 4 UE D\ | = = U2 A\ - = U D\ = =
1 100kN/mM#%#B x5 - -~ - —|3mEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 0.00 ~ 475 59.21 | Zhlis | 000 ~ 0.00 | 1.67 8.46 zh s 1.00| 500 ~ 5.00 59.21 | Zhblist | 5.00 ~ 500 | 1.67 8.46
9 100kN/mM#%#B x5 - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00| 0.00 ~ 5.92 7406 | LSt | 000 ~ 592 | 1.89 9.54 zh s 1.00| 500 ~ 7.00 7406 | Zh st | 5.00 ~ 7.00| 1.89 9.54
3 100kN/mM#%#B x5 - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zhs 1.00 | 0.00 ~ 559 69.78 | Zh LISt | 000 ~ 0.00 | 1.69 8.53 zhs 1.00| 500 ~ 6.20 69.78 | Zh LISt | 5.00 ~ 6.20| 1.69 8.53
4 100kN/mM#%#B x5 - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zh s 1.00| 0.00 ~ 6.09 7640 | Zhlist | 000 ~ 0.00 | 1.71 8.66 zhs 1.00| 500 ~ 7.00 7640 | Zh kst | 5.00 ~ 7.00| 1.71 8.66
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Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImZHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zhs ~
100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM%#BZ % ~ 3ImEHEZD ~
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100kN/mM#%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/mM%#BZ % ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/mM%#B 2% ~ 3ImEHEZD ~ 100kN/mM#%#BZ % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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